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EIGHTH SEMESTER LL.B. (FIVE YEAR) AND
FOURTH SEMESTER LL.B. (THREE YEAR) DEGREE
EXAMINATION, OCTOBER 2009

LABOUR LAW—I

Time : Three Hours Maximum : 80 Marks

Part A

1. Answer any five questions. Each question caries 4 marks : —

Discuss the requirements under the Industrial Dispute Act to constitute an “Industrial
Dispute”. Critically examine and state whether an individual dispute can become an

industrial dispute, referring to case law.

wscuss the legality and efficacy of strikes and lock-outs as coercive weapons either in the
hands of the employers or employees to demonstrate their respective strength and compel
the unwilling party to resume negotiations to settle the dispute between the employers

and employees.

efine and explain the scope of the expression “retrenchment” under the Industrial Dispute
Act. What are the requirements to be complied with by the employer before retrenching
an employee ? Explain the significance of the maxim, “first come last go” or “last come first
go” in retrenching employees.

%’V’hat is lay-off ? Explain. Discuss the rules governing the payment of compensation to a
workman who is laid-off.

1 ritically examine how collective bargaining is a method by which problems of wages and
s dconditions of employment are resolved amicably, peacefully and voluntarily between
labour and management. What are the advantages and disadvantages of collective

bargaining ?

A%.,c are the Employment Standing Orders and what purpose do they serve ? What arc
the matters for which provisions have to be made in the Employment Standing Orders ?

(5 X 4 = 20 marks)
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Part B

II. Answer any three problems. Each problem carries 10 marks H

(a) The management of a factory gave notice to the wofkers that it had decidea to close down
the factory from the date mentioned in the notice. The reason sfated for the closure was

that the factory had been incurring heavy loss commuously fo the past three successive
" years due to competition, non- avaxlab ity and high rate of price of raw materials and levy
tice that the proposed action

of certam duties on raw materials. It was also stated in the
was not by way of reprisal of any existing strike or intended strike of the workmen of the
f::gt_og_' In the notice issued by the factory, it was not said that there was any EXlS‘mg
s':r‘k,e_'~’liV.eBJ‘llf-"-ﬂded strike or warning note of a future strike by the workmen of the
factory. Apart from the reasons already stated in fact, the management had no other
reason to close down the factory. The workers alle; _ged that the proposed action of the
management was by way o( repnsal and therefore amounted to lnck out and not closu.re
Decide. o371+ 7 ; SR ;
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(b) A company is incorporated under the Companies Act, 1956. The entire share capital of the
. f company is held hy the President of India. The registered office of the company is situated
‘at Madras. It has industrial establishments at Madras, Bangalore and Delhi. There was
an mm.smal dispute at the Madras plant. "Which'is the appropriate Governme eal

J ek TIPSR
. 2 VRIS, u.aﬁp H)/U&f" v 5.1.0 o
RORAE © JA dall& news paper publlshed from Madras, had ten ewegsjnts_ﬂamhay-ofﬁce Three

of the employees were on journalism side. The services of one of the working journalists
2 0L LIS WOrIng JOMLS

————— -
were terminated and the cause of that journalist was espoused by the Bombay Union of

journalists of which two of the working journalists of the Daily newspaper concerned
e —_—

including the journalist whose services were terminated were members. The third. journalist

was not a member of that union. The appropriate government referred the dispute to an

Industxlal_ﬁwcauon The management of the Daﬂy Newspaper concerned

Mju wlnch
concerned. Decide. > A ®
oncerned.

s not supported by an apprecmble number of employees of the Daily
Oy an appreciable number of employees of the D:

(d), An association represented by ten of the members of the N.G.O. union of the State
/ Government applied to the Registrar of Trade Unions for registration under S.5 of the
Trade Unions Act. It was rejected by the Registrar. The association now wants to file an

| appeal against the decision of the Registrar. Advise them.

(3 x 10 = 30 marks)
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Part C
\[I. Answer any two questions. Each question carries 15 marks :

e Conciliation Officer is part of the Government ‘machinery on permanent basis. Whereas
the Board of Conciliation is an adhoc arrangement. “Discuss, explaining the powers,
functions and duties of both Conciliation officers and Board of Conciliation pointing out

¥ _the difference in the activities of each.

2 tically examine thékfunctions relating to adjudication of industrial disputes entrusted
w“\k,g}lthorities under the Act for the adjudication of industrial disputes such as the
L“bo‘;f‘k}‘_urt, ndustrial Tribunal and National Tribunal. Discuss the nature of relief
hich can be; 'nm:_ed;hy such authorities in case of discharge or dismissal of workmen. .

Briefly state the' ; Tiabilities and privileges of registered trade unions. Examine and

discuss the procedurefor certification of Industrial Employment Standing Orders.

@2x15= 30 marks)
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